50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

Time: 3 hrs.
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Seventh Semester B.E. Degree Examlnatlanﬁeﬁec.ZOIS/J an.2019
Industrial Drives and Aﬁﬁlicatlons

. Max. Marks:100
Note: Answer any FIVE fu?f Questtons, selecting

at least TWO questions from each part

hoist load.
b Explain the different power
G A drive has followmg param P
=10 kg-m T 100 —@Q IN N-m, Passwe load torque T, =0. 05 N, N-m, where N is the

(06 Marks)
(10 Marks)

04 Marks)

a. By assuming machine to be homogene@us@ody, obtain the thermal model for heating and
cooling ofan @ectncal motor. (06 Marks)
load torque components;? %eﬁne actlve and passwe load torque. (08 Marks)

C: Halfkho‘%

efficien

occurs at 70% full lo etermme the contmqous rating of the motor. (06 Marks)

a. With dynamic equivale ent analysis @ rately excited dc
motor with armature h® (08 Marks)

b. Explam single phase ¢ontrol of dc sepatately excited motor with
(12 Marks)

regenerative braking.
(08 Marks)
r«otor has an armature res1stance of

age of 230 V. Q§summg continous conduction.
ing operation at rated torque and 350 rpm.

ing operation at rated torque and 350 rpm.
(06 Marks)

a. Obtaln th%anglysm and performance of a three phase induction motor when operated from

unbalanced source voltages. ¢ (10 Marks)
b. With a neat diagram, e star-delta, Auto transformer method of starting of three-phase
mduction motor. (10 Marks)

curves. (10 Marks)
b. Explain the op”%sﬁﬁon of voltage source inverter fed induction motor drives. Also sketch
various sche@es S of VSI fed induction motor drive. (10 Marks)
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With a neat block diagram, explain the true synchronous m ariable frequency control of

multiple synchronous motors. (05 Marks)
Explain the self controlled synchronous motor drivg ying load commutated thyristor
inverter. : (10 Marks)

power factor, 4 pole, star-connected
15Q, Rs = 0, Rated current is 10 A,

A 500 kW, 3-phase, 3.3 KV, 50 Hz, 0.8 (la
synchronous motor has following parameter
calculate
> Armature current and power,
(i)  Torque for unity power factc

rated current.
S5A. (05 Marks)

Explain the driving motors u; e i rdiffgrent operation. (10 Marks)
Write a technical note on: -
@) Rolling mill drivg
(i) '

Paper mill (10 Marks)




